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The figure shows a block that is being pulled
along the floor. According to the figure, what
is the acceleration of the block?

;Mqi;h_’u!qhiﬁh?'u.ﬁ—a;:hu
Tamaadl 028 & 4l A

A m
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532

5 m
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‘ A communication satellite is in a circular orbit JR AR e Bimse slla Sl )"’
around Earth. .o il

If the speed of the satellite is constant, the force @ 4 ko sl _J...ﬂ;gc‘_ﬁs 4

acting on the satellite adll o 3 il 5 gl
A . . \
| iszero e g gl
B. , -
{ Is decreasing gy e
o f points in the direction that the -
l satellite is moving. Y e
®I points toward the center of Earth at pe b S e aladly S

all times i gy
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A 70-kilogram skier leaves a skijump ata
“velocity of 14 M/ 4 0

4

-

——
What is the 5HEFthat instant? fadaalll &lli die = all aa ) il e
£ = mx A
il 50 Nes - 70]X Y
“ - <
= = O\%@ 2
o 9,800 N ® s | ;
o 5 Nes ] Kot /5

‘["' 980 N e s

5
T i
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Where does visible light fall on the
electromagnetic spectrum?

A
| between x-rays and gamma rays

PV B

i el calall Syl e sl aB e

ks dali g duind] Sl iy

E i i = 24 -1 s ] 1
between short-wave radio and — s 30 pealll AsilYl s e
television oy Al

| | G Aty el pandl Ziad AV
between infrared and ultraviolet £ iy

D

between microwaves and infrared

S Al g gy el s e

¢l pendl

\n 'lf)\ACS\‘ >*




Cawska“\\('
' “ ™ g
A 5-kilogram mass is lifted form the groundtoa . 10m £ ) i a A (e 5 kg AlS aea pd s (F7
height of 10 meters o — —
g i svaraes Pt ey
ncreased by approximat . FE — W\% \(\
9
A [ 50 = 5% q.]gx\o
~60
ol 2 = b
' [ 250 ]
z [ 0.5 ) ]

500 J }
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What is the current through the 2 [J resistor? 2 [0 i s g o o g sl dagh e

_— — —
allel —Pmerr *‘\‘\“:\\
1\ = ?__\_/)_ R R =
R, i 20 602
\ 10V
— \®
2 -
5@
A
| 80A
Pd\m\\c\
B
| 02A oV =BT e
- 30 '\/
5.0 A

| 08A




'Exﬁ&m&lywre needed for ol et sl el Sels plas

fusion efficiently. Aal ye
What siate of matter is most common at there dn W Gl dis Lo ol SSY A0 Gl S0 Al e
temperatures? Phal i
A i ™
[ gas 4380 ]
[ liquid |
() o =
D ¢




An object moves away from a motion detector

wittf Y Constam<pesd g YraianX \lwe  — S&ifis .
W" —
Which graph best represents the motion of the pespdl &S ja (Bieg o200 3 g M) e i
object? /NeVrTTTT————— T ~— o S
A Sy

Wu.\lc \‘owa(g ICCA

%\Qa\l\\e 6?

Constank,  Aioyronfe

time el
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L AN
A soccer player kicks a 0 5-kilogram

uﬁ&ﬁu.mdﬁasﬁ,&a;#wﬁ;

TN d
stationary ball with a force of 50 newtons. S0ON &l
Vilhat is the force on the pisgeds faol? feso U1 pdd lo § iipall il ke e
S‘__‘ I
A o ?2\
| 100 N
B. N
| 25N |
C
[ ON




' A sound wavelraveling through a solid matenal 2 m o sl Ll b g SUD@AH;& S gt 43 e

has a frequency of 500 hertz. The wavelength of ooy o e
the saﬁ\@ﬁiﬁm - Adloa 83 Nia s

PN >\S

What is the speed of sound in the matenal? il sia b Spallie o Al (7 — >\ g\:
[ S
U = 2XSee®

250 M/ f|\660 @

1,000 M/s

\' 250,000 M/

[- 500 M/s




wn A\ eo
Two oppositely charged particles are held in wﬁuﬂhﬂiﬂumhjdj“um#

place near each other ANy o an )
mn the particles are released, they will most _ T :_r-'!-;“a” Sl A eall y ad S
A [ vl . o R
| rotate in a counterclockwise direction deldl o Me e sy ) e o \o oLs
- veQeal
B | . ; i | N o
[ rotate in a clockwise direction ol o e dlady ) ;e | W) W el
@l accelerate toward each other  akvvas Loguany tladly o fudy |
D. & ;
l accelerate away from each other apaiting v pdadie o gedy |

V %
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™M | o | L at - L%
il dall Dk \ dntad
R ——— L el L[ [ b s
meter high roof W G 3 m Al e Se e <¥g
What Is the approximate kinetic energy of the r R e . Birom o o
brick just before it touches the ground? Ol gl A el il ‘-::I"-i-,r,br*: ""h
/ 75 ICnVLch-Va‘('(oV\ "(If
ene YN
B | i KE@ = V&,
C | 1) | = USK9B X3
=7%5 7




' The diagram shows a 2-kilogram box colliding Gt palaan D kg S G siia ol e el

with and sticking o a second box. Ao Seailiy Al
Before collision pala L6 After collision palaz! s
P 4
Y 3mss $ -0 Vo o1mss
— -
T 7 2 X (’)W“ d; f
What is the mass of the second box? “q ¢ A 3 il A0 a3 )’,//
N '
‘/ 4k AL, 1 = Cravwe )
y
- 2x% X O
V4 7 (’2. %MLBX
x 66—
B. | .
B kg L = 2 —k@
c \ﬁ}"_ﬁ/
9 kg .7 Mo
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Objects appear tj[ﬁg%f;.l’zf_gnd shape
in a container of water due o .

ele g b Adlidg JISSI g slaals sladll s
e el 2 gles

5
| @ﬁr;;l;m f the light waves

PO BT mﬁ!@ |

‘ interference of the water and light
waves

.:-J.'aﬁl_’ﬁhh;ﬂ.:.y;ﬂ_lﬂ.‘ﬁ 1

I.': i
| polarization of light waves

@ | ul light waves

';.I[:l_y.'ﬂll -"_h._,.dl ..Jl.hhn.p'l I|

=
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A 9-volt battery Is connected to a light bulbwitha =344 &= YIS gheas I OV 4 ) Jayi o5
“Tesistance of 3 () R=ev W
resistance of 3 0. o T = NS f 300 jlaie A
\/N\A -
T R = \R
; : e Ll 7 — . A i ST
What is the current in the circuit - _ﬁ_g % Al dad e
= 3 (R
A [ - 3
| 03A ]
o ) 30A |
6 .
C. E
| 2T0A
D

|' 10A '|
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A studentholds a book at rest in an outstretched o= 4a A 3 g8 el sy AL Jeay i
hand The force exerted on the book by the Syl 2 :F;LE.H sl Al gl B gl

student 1s equal to the book's A
%/ € e
mass ’f{ v 418
&Y rec\ Condmnt
SPecd
B Y
density. e |
C. '
volume aas |

@ weight_ BT

T




A metal bar magnet has a magnetic field inthe  Js g ose 2| ublbas fasdla o g blas
region around it. The W& due to : o el Jaadi s

> ~

an electric current that runs along the Ll i AL PIVC R |

‘ ~ the motion of charged particles in the e E R e :
‘ metal el s nee
C | .
| ahidden voltage source in the metal hndl A da lea s
D " R ,
| radio active particles in the metal e

V %



the circuit below 7

How much power s dissipated by the resistor in

25 W

100'W

800 W

Ao giell L e Algticat 8RN ok e

® aliy Ed,il;h ..,-..—l"
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A ball on a rope swings around

a VErtical pole.
- v R |

}{, J}\ ‘,)/.:])‘f

’_/ j\/
WS o el {B;/

Il the ball fiy if released prad) Al gadl b S S 13) BN aasio sl gt b
Toliai o b

In which direc
at the loCation shown?  ——
o .’ o
= rd
b wW




What event will produce the greatest increase in
the gravitational force between the two masses?

@?\» Mireddw

fe—0.5 m—| = 6 MIMz

L

250 g

T ——~—

*

C.

6]

\T\p.f’
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(

reducing the small mass by half

—eadl M el Alel A8

doubling the large mass

doubling the distance between the
masses

reducing the distance between the
masses by hailf

AT ALl Ade o ]

Sl Al Als o

il ey Sl S adaddl LK
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‘ In collisions between two objects, kinetic energy
o R */—\-/_\—"'\_,/

15 conserved only
/\/N

A

if one of the object was intially at rest

4 jall 4l s r‘*_h-“*ﬁ“ a4
- 4 i 40 g g g

JA L W Al sal D ‘

adlunalll
wp /E o
‘ | inelastic collisions Sl pdhealll | N ;,\'h)\
| Ly
c oL
' if potential energy converts to work :
[ energy il g nia gl Al J a3 ]

in inelastic collisions




‘ A sound wave is produced in a metal cylinder by P g A e Al ) i b 2l b e
stnking one end. AL gy i g I

Which of the following occurs as the wave fravels e 45 peall S padl Ul D8 Saay L s 5

- , —~ = . P
along the cylinder (, N > m fadl ghayl g

A Sruiell el
| Itsampﬁtudemcrea% 5\,‘.w}\}(’/"/"'s‘/’é"' <-4"'*J"3";"""““F |
\ey . _,;\)\// .l'e'os $ \

N

| lttransfers matter. il Ju |

| Its frequency increases. gl 33 i3y |

\’ It transfers energy A ,V/ |




A student in a lab experment jumps upward
off & common bathroom scale as the lab
pariner records the scale reading

1

wWhat does the lab partner chserve during
the instant the studemnt pushes off ?

e
-.‘n;l.i.i"'-‘,.qj e _:,mlllﬂ-ﬁa-l#- }hﬁ_‘*_-_u;
A all Bel 4B

A %,

2
et s D almadll | A dldall e s sdaail ol
T o ) el e iiadl

= ;

The scale reacing will increase AT - T TR B I e
during the entire ttme the student 1s In ﬂ,.d'- ‘Fﬂ 31 ..."'I 3 uh L __‘,.._..
contact with the scale S - — =

< The scale reading will decrease ) i ) - .
momentarily then will increase as the Sl s o s Ldmad ) el Bel 8 el
student is moving upward from the e Sl el B Adaal 8 el

| scale.
The scale reaching will increase ) ) -
momentarily then will decrease as lls sy tag Al Ldaad b weadl Bed 8 0o G
the student is Mowving upward from e S el S ) AZaal B calaalti
| the scale.

D - T X ) o . N
The scale reading will remain Bl 5 oA e ) Jed) Bed B R
unchanged during the entire tme the clad T all g e
student is in contact with the scalke. R TS

V %



The diagramn bebow =howw curmeand
fionsy thirough o wir=

(| =-— CURRENT FLOW |

Wi of the folloswing represarids. the
magrsetic feld reswirng frorm the cwurrent™

o
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e
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Sample Question:]1
Answer: A

A 300 kg eagle is fying from right
lolefal L2 m/s

The aagke collides with and sticks
toa 1.2 kg drong moving stralght down

with & speed ol /.5 m/ 5

jifdapn

1.2 kg

12.0 mis
" )

What 15 tha mﬂ_[]nilmjﬂ aof the

marmantum Gf the eagla-drone systam

immadateny after collision?
""\W\/

wao W et
M, d\

::l..-l.l K LA Als Ih-
,\/_-.r'.--!"‘JJ-.-I"'ﬁLJl,J (=

N e ds
Uy, 1275 A O|

37 kg.m/s
W il ai) 8 diday lulaad aadll g r,_.ll silaal
J'--'J*J-'I;J»u-wﬂ-ﬁt-l-.,- .
@ 75 mlshs J..u)t"]'/l | 27 kg.m/;
¢ O | 23 kg.m/
O | 45 kg.m/,

LA R e VR W

Pz = \4\,_(97_ “\Wix-ls=-90
2f -
28 2% = P

d,n’c\'\OV\Co . {%)
\"\ 3]

342,‘, q.::i —= 37\
b et

300 kg gy

'ﬁ'-“'!ﬂ'.#ﬂlx ks s

T plidaea’y| 204 Yl e
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sample Question: 2
Answer: 22.5 (answer ok need text editing english arabic)

™ K0,35 kg glass marble is atiached fo a rope § A e (36 g B dala )0 6
ety il ™ |
and swings mnclu i rw 1,22 m Wyl el § s S _,h :aii.'a
[he speed of he rpmhla s | passes s G5 M5 g gl | ol 5 1
highast pointis 9.5 m/ ¢ 2
NN
o o3 0 St Jal a2 i
What s the fnsion n he ope al Ihe fghes! ol ¢ Jhi crmj.l
paint in the marble's moton el >
g i) dial o) o= % - mg

Round your answar to ing naarest tanth d sl b e | v

= (6.5 . 3
T 6 ';\ ;Zq s)’_ (s135% 9.3)
IR
lension in the fope () = =(N) sl = >

= A2SD N




® Vartical Frex 22 WP = dawn
(B Fone = 35

FI\’ = N\s B FG'W\Q'J
:(Woxq.g)— (Ve $in3S)
- 3209 N

g

. . §5
@ FK":- IV\KFN .—.:a~'1><3’28-°| mgy

v, KAY |
K YA The figure shows a wooden box (hal is #MﬂJw-h'-jJ-:.-p@ f? — {W\. a WeriZantal

baing pulled along a horizantal plane S Ay i e e il 5 g

Accarding to the figure, what s fhe aﬂu i HI“""’"L"" Lfcosb - FK) z 4@

horlzontal acceleration of the box to the st ks ) el -

Frovided thal the cosffickent of kinetic 0.2 _

friction wood on wood s 0.2 e (“0 (o5 35) 6513 o
~_ s o0 s B B o

Round your answer 1o e nearest T ——e—_ U\ 0

hundredih ~— <N\

~ . O e
Horlzontal acceleration (ma’)= [~ = (mis’) MY & D ra
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| il i e | Al gl |
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' Sample Question:7 E

Answer; D

N~

R

AV N

L

nergy is dissipated by the

How rny;rl_ﬁ_%

SEdresistorin 1.0 57

20V

D - ~
V. zV, 2V,

P(,xa\\e\
e 507 e gt b B dliiadl ok e
w ———

TL20 5 » ke

(

: R
(& ]
—— X Y
S
80 J = q 2
16 x lo J
40 J |
1.2 x10% J |

9.6 x10*J |
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Sample Question: B

Answer: C

WWihich of the following figuras reprasanls
the affoct of Tomporature o
mada from alumdnum?

O A

SemsEnce [

[N AR T

Fermpesanas "=

Rnidoncs 0 —»

oy o e e "
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L —

S e Co“a“t’\or (6\ \
D
ot =
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&ewW QN\& Wt
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Frrmmyperartiow "1 -

—¥

Resstanon (b -

[

o e g sl g s ™ L -

V %
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L] N L e s Y, fen b |
ool e e gt s e e
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Sample Question: 9
Answer: 32 4

Various elongations are produced when a
different objecis are attachad o a spring.

The graph balow represants the
ralationship betwean the objact mass and

the elongation of the spring.
£ ™)

ibems bl b e Ay el 6] el wallda gy
N T I " LT S S L P
Adbia L el __'J.n.- PR N PP 1 T

b el B gl ATl sl ) e ) e gy
.-ﬂqi-i.ll.h.l._"}ll ;I_‘.l..j.ﬁwﬁlh‘,l:

Mass vs. Elongation

Aty Jilie A1

10

S,
\_\i,
~
e
i
.I

v
’
AV |

Mass (kg)

P

Elongation (m) “Jdaiuyl

What is the energy stored in the spring
when the elongationis 1.15 m?

Round your answear 1o the naarast tanth,

c—v—f"'—/

Stored anargy (J) =

G5 edie o ) AE) Al i
1.15 mh yidail

e e b g e B Al o

= (J) At Addall

(PN TE 1 L)
= LY 30w
=1L L
- JEan
‘"éx l~ISx(5-1§xq-&3
£ 32.M3Y

= 324




Sample Ouestion: 10
Answer: O

If the distance from point A to point £ in the B Adanill g 4 Adaddll s Adicead) Zuis 120
diagram is 270 crm, What is the wave length of o padl U gdall sa L 270 crm g g

this wave? Toldal S0 b dg pall

27°®

2-70;_:(1‘0

DaN

/-’g" o)\):,D\
t\ie-’c;z
“_. 1 .L/Lt
L yeie GF T
A
S I 540 em b)\,‘/‘ (o \
- N \
) .- \A’)“}, Uua,\/" -~
405 cm D;)\d’w(af T

180 cm

lAMf [thude aawdl
O D. A =

| oo Q\g\ Vo) o)
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Sample Question:12

Answer:; C
A ping pong ball undergoing 6 simpke Mﬂp i i Al flde i b S
harmonic motion over a hard floor takes 019 ¢ it s e g e lgda e e
——— - ; % e L
o travel from the o Its o el G e il 019 5 3 S
highast point Tha dsiancs Datwaen Hheds ap x 8
POINTS % O7 cm AT cm B ) e gl adals ol
N——
Calculate the frequency ol This hanmmonic Thl i h Sl AS 22
PRI Ne— _ \
= —_— NS S ey e N
Round your answar o tha naarst ianth \ Q&r‘wb Y
< ')\;,ol?\ oS F—UN dV «e
? i \ ' 014 4 6 q
OA o33 \ = 2 X 0.\

|- 53 Hz :’Z\GHZ—

= 033 (S)

o8 | 16 5Hz
‘|/ £ B8 Hz
oD

| 10 5Hz




Sample Question:13
Answer: A

Whan the amplitude of a sound wave is highar . A e A g Al 2l W s
the

saund will ba loudear Lo 281 48 o pualt ]
| saund will ba saoftar gl K0 A L geal) |
sound waves will bolastar b ol g o peall vl gl |
sound waves will slower sl g & peall o gl |

V %



Sample Question:15
Answer: A

The transition from solid state into a o8y b Adad LU Adall Bad e Jyaid
gaseous state without passing through g Al Ay
llquid state is known as . : o ad

| stmaton Vet
@) .

| boling sty |
O !
O

| meting s
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Sample Question: 17
Answer: 2.34
A lasar pointer produces grean light with T T g ey
awavelength of 532 1m_ N\ x5 532 nm
E el § gad VS sl gl RV
What is tha anargy of a single photon in g {E ]' o
¢V produced by e pointer? "l e
Round your answear to tha nearast
hunmgtmh: R e e b el i o
~—

Energy of a single phaton in eV = [ | s(a V) sl el Al




Sample Question: 18
Answer: B e .5

-~y

Electrons revolve around 1ha nucleus in N R [ I = I TR FY =4 Uy =
orbits that have enargy lovel(s) ! oﬁ 0 Adlla o i
O

( linile S j

( varable b i ]
& .

- same Ay i J

odB



' Ke = T~V
Sample Question: 19 _j,m UJ_" - q(' >4

Answer: E)& « q, DV =
Elactrons o an X-ray imaging meaedical ]} daudall 4 gl iimn
equipmant are accolerated from rest AV GG AV 8 el dgm
throwgh a potential difarence of 6% kY N~ DV

What s tha averapge spood of each of

(s
Pnﬂ.‘l’

T oeedl Sy GBI e JE e e da e e

ﬂé‘\{\

_ \s‘tx\v
':|' \~3X\° "/S

‘_” these electrons? u¢()2x\ Qx\bquS6x_i_t_l
2ol 1,61 = 10" mss
™ -
e l(f»){j
[ 233 = 10% m/s

| 1.07 = L0® m/'s

| 4.768= 10" m/s
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P

A car is moving at 25 M/ north ,,&-\/ Jhad 28 M/s 4oy i B s
Q{L? ~7 \
14 \{\
i 5 i A @ ETRE -
Which of the following is dvector guantity’ d\zc\fﬁ} NG L EP S PR POR
sco:\(’" "\'_, ;’5 .
| the distance traveled by the car b el Lgfatal A bl ]

(\_A_/"'"

| th%,ufth&car b jadl da yu ]

[ the potential energy of the car 8yl Al Bl ]
D - '
| the mass of the car S jedials |

N~




JedsoC

Which of the following represents the ve ofa facal dgaidl poa de podl Jio L Les s

A [ Jwl 40 m north ]

C) Fr o
K [ s0m/s
[

B 40

R A S . S
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Crata from an expenment are presented below. o pas e diole dlol) eaadl —am e

Experimental Data

e b o o 2 G~
! - :.a}-—---l---:“ L S 5 'L.. o
‘Distance | Time ;. 1 & —
;\J) i 5cm 00 [02s 0 | 21T T OV —f[{ed
Jovet® 5cm _ foas i (o S i bk
\? 25 cm 06 s o —t——t—+
35 cIm 08s * L4 0.2 04 0.8 0.8 1.0
Time (s)
The@cvf the graph represents what e By e e acund] Ladiaul Say Sl & 3 La
characlenstic of an object? R e
% [ displacement Al N |
B. . I - '
| inertia e
= | force § g -I
D . \
[ S-I'J'E'E'd ‘-ll-_’—-“- |




Red-clay bricks have a density of approximately b g g &l paan Agipha 4 gl ABUE i Do 1) [
2000 kg/ 3. Air has % $a== ¢l gl ALS 42000 kg/m 5
Mz SV

adensity of 1 kg/p,3. e = IX l6 000 :: <9 % S)

Which of the following has the lowest mass? Pakic Ji Lol 400D e gt

N ™

\/

\/

10,000 m* of air ol sl = (10,000 m?) Mma= | X foo0

' S N > _ - 5'040 Kj
B &000 I";I':l3 I:er alr F].ﬁ-h i {EGGG ”13] | Mc - ZDOOX l'i

—N\N AN ] — &oao M
< . - X2

m” of Oricks — (4 m = <
4 m? of brick sl m @) | My 2 BEAS
2m’ urw wpall (2 m?)
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'Thegraphheh‘-.t.-s-l’u:-ws the speed of @ E R A [ R N g o
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